Solve 2* = 8

2*¥ =18

x =3
Solve 2* = 16

2*¥ =16

x =4
Solve 2* = 12

22X =12

log 2* =log12
xlog2 =log12

_log12
x= log 2
x =~ 3.58
E
log 12+log 2
3.584962501
10g2(12)
3.584962501
]
MAT/VCT! logab| Abs |d/dx d2/doc2{ Il
Solve 3*+1 = =
27
3x+1 -
27
1
1_
3x+ _?
3X+1 — 3—3
x+1=-3
x=-4
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. . Ina .
Solve 5% = 2**1 writing your answer in the form pes where a and b are rational numbers

Your GDC will solve this equation ..but not leave the answer in the form Z—Z

E [EXE]:Show coordinates
WL=56"(x)
¥2=2"(x+1)

B MatWRadforml) [dic)farhil
Eq . 5x=2x+1
x=0.,75647079
Lower=-9eg+99
Upper=9e+99

......... (0. 7864,3.2787 INTSECT
BA707974 ¥=3.378705949 = | | [HAXIAN[jEE3}3 SOLVE

Sx — 2x+1

In(5%) = In(2**1)
xIn5 = (x + 1)In2
xIn5 = xIn2 + In2

— xln2 = In2
(In5 =1In2) = In2
In2
= In5—n2
_ In2
lni
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